
TOOLS REQUIRED:

Allen Wrench (G), supplied 
Wrench (F), supplied

BEFORE YOU START:

1. Check the parts against the parts list to make sure all items are present.
2. Assemble your furniture on a soft, flat surface to avoid scratching the finish.
3. CAUTION: Do not over tighten screws, nuts or bolts during assembly.
4. Your furniture may require occasional tightening.

ASSEMBLY INSTRUCTIONS

Page 1 of 2

QtyDESCRIPTIONITEM

HARDWARE LIST

Lock Washer 5/16” x ½”

Bolt 5/16” x 3½”

Nut 5/16” x 2” 4

9

9

1

4

A

B

C

D

E

NO.

Flat Washer 5/16” x 3/4”

Wrench

Bolt 5/16” x 1½”

F 1

QtyDESCRIPTIONITEM

HARDWARE LIST

Bolt 1/4” x 1-1/4”

Flat Washer 1/4” x 3/4”

Allen Wrench 4mm 1

4

4

2

2

G

H

I

J

K

NO.

Lock Washer 1/4” x ½”

Wood Cap

Flat Washer 1/4” x ½”

L 2

 Chair

 Armchair



Figure 1

Figure 2

D
C

C

E

A

D
C

J
FH

I

G
K

792 - 636

792 - 637

C
A

B

D

C

A
B D

C
G BE

Page 2 of 2

INSTRUCTIONS:

1.  Attach the Seat Frame to the Back Frame using Bolts (E&D) with a Lock Washer (B) and then a 
Flat Washer (C) placed on the Bolts (E&D) first. Tighten with the Allen Wrench (G). Do not over 
tighten! See Figure 1.

2.  Attach the Seat Frame to the Front Legs using four Lock Washers (B), Flat Washers (C) and a 
Nuts (A). Tighten with the Wrench (F).  Do not over tighten! See Figure 1.

3.  If you have an Arm Chair, attach the bottom of the Arm to the Seat Frame using the Bolts (H) with 
a Lock Washer (I) then a Flat Washer (J). Tighten the Bolts (H) slightly with the Allen Wrench 
(G). See Figure 2.

5.  Tighten all the Bolts, Nuts and Screws before using your Chair. 

J

H

I
G

G
H
I
K

L
C

E

B

G

C

G

B

D

C

A
B

F

Chair 

4.  Attach the top of the Arm to the Back using one Bolt (H) with a Lock Washer (I) and a Flat 
Washer (J) placed on the Bolt (H) first for each Arm. Tighten the bolts with the Allen Wrench (G). 
See Figure 2. Cover the bolts holes of the back leg with a Wood Cap (L). See Figure 2.

ASSEMBLY INSTRUCTIONS

 Armchair

Thank you for purchasing furniture!



OUTILLAGE NECESSAIRE:

Clé Allen (G) (inclue)
Clé (F) (inclue)

AVANT DE COMMENCER:

1. Vérifier que les pièces correspondent à la liste, et qu’aucune ne manque.
2. Assembler votre meuble sur une surface lisse afin d’éviter toute égratignure du vernis.
3. ATTENTION: Ne pas serrer les vis trop fort lors de l’assemblage.
4. Les vis, boulons et écrous de votre meuble peuvent avoir besoin d’être resserrés de temps à autres.

Page 1 sur 2

QtéDESCRIPTIONPIECE

QUINCAILLERIE

Rondelle d'Arrêt 5/16” x ½”

Vis 5/16” x 3½”

Ecrou 5/16” x 2” 4

9

9

1

4

A

B

C

D

E

NO.

Rondelle Plate 5/16” x 3/4”

Clé

Vis 5/16” x 1½”

F 1

QtéDESCRIPTIONPIECE

QUINCAILLERIE

Vis 1/4” x 1-1/4”

Rondelle Plate 1/4” x 3/4”

Clé Allen 4mm 1

4

4

2

2

G

H

I

J

K

NO.

Rondelle d'Arrêt 1/4” x ½”

Capuchon Bois

Rondelle Plate 1/4” x ½”

L 2

Chaise

INSTRUCTIONS DE MONTAGE

Fauteuil



INSTRUCTIONS DE MONTAGE

INSTRUCTIONS:

1. Fixer l’Assise au Dossier avec les Vis (E) au centre et (D) pour les pattes, prémunies d’une 
Rondelle d’Arrêt (B) et d’une Rondelle Plate (C).  Serrer avec la Clé Allen (G) mais pas 
trop pendant le montage! Voir Schéma 1.

2. Fixer les Pattes Avant à l’Assise avec quatre Rondelles d’Arrêt (B), Rondelles Plates (C) 
et Ecrous (A). Serrer avec la Clé (F) mais pas outre mesure. Voir Schéma 1.

3. Si vous avez un fauteuil, fixer le bas du Bras à l’Assise avec les Vis (H) prémunies d’une 
Rondelle d’Arrêt (I) et d’une Rondelle Plate (K).  Serrer avec la Clé Allen (G) mais pas 
trop pendant le montage! Voir Schéma 2.

5. Bien serrer toutes les vis avant d’utiliser la chaise.

Schéma 1

Schéma 2

Page 2 sur 2

J

H

I
G

G
H
I
K

LC

E

B

G

C

G

B

D

C

A
B

F

4. Fixer le haut du Bras au Dossier avec une Vis (H) prémunie d’une Rondelle d’Arrêt (I) et 
d’une Rondelle Plate (J) pour chaque bras.  Serrer avec la Clé Allen (G). Voir Schéma 2. 
Couvrir les trous des vis avec les Capuchons en Bois (L). Voir Schéma 2.

Chaise 

Fauteuil

Merci pour avoir acheté meuble!



HERRAMIENTA NECESARIA:

Jalón Allen (G), incluido
Jalón (F), incluido

ANTES DE EMPEZAR: 
1.  Compruebe las partes en contra de la lista de piezas para asegurarse que todos los elementos 

están en el cartón.
2.  Montar los muebles sobre una superficie limpia y plana para evitar daños.
3.  CAUTELA: no apriye demasiado los tornillos, tuercas y pernos, durante el montaje.
4.  Sus muebles pueden requerir apretar de vez en cuando.

Page 1 de 2

CtdDESCRIPCIONPARTE

FERRETERIA

Arandela de Parada 5/16”x½”

Tornillo 5/16” x 3½”

Tuerca 5/16” x 2” 4

9

9

1

4

A

B

C

D

E

NO.

Arandela Plana 5/16”x3/4”

Jalón

Tornillo 5/16” x 1½”

F 1

CtdDESCRIPCIONPARTE

FERRETERIA

Tornillo 1/4” x 1-1/4”

Arandela Plana 1/4”x3/4”

Jalón Allen 4mm 1

4

4

2

2

G

H

I

J

K

NO.

Arandela de Parada 1/4”x½”

Tapón

Arandela Plana 1/4” x ½”

L 2

 Silla

HOJA DE INSTRUCCIONES

Sillón



INSTRUCCIONES: 

1.  Sujetar el Asiento al respaldo las patas detrás con los Tornillos (E&D), antemano 
colocados con una Arandela de Parada (B) y una Arandela Plana (C). Apretar con el 
Jalón Allen (G) sin apretar demasiado durante el montaje. Veía Figura 1. 

2.  Sujetar el Asiento a la patas de delante con una Arandela Plana (C), una Arandela de 
Parada (B) y una Tuerca (A) sobre los tornillos de las patas. Apretar con el Jalón (F) sin 
apretar demasiado durante el montaje. Veía Figura 1.

 
3.  Si tienen un sillón, sujetar lo bajo del braso al Asiento con los Tornillos (H) antemano 

equipados con una Arandela de Parada (I) y una Arandela de Parada (J). Apretar con el 
Jalón Allen (G). Veía Figura 2.

4. Sujetar lo alto del braso al Respaldo con un Tornillo (H) antemano equipado con una 
Arandela de Parada (I) y una Arandela Plana (J) por cada uno braso. Apretar con el 
Jalón Allen (G). Veía Figura 2.

 
4.  Apretar todos los Tornillos y las Tuercas antes de sentarse en la silla. 

Figura 1

Figura 2

Page 2 de 2

J

H

I
G

G
H
I
K

L
C

E

B

G

C

G

B

D

C

A
B

F

Silla

HOJA DE INSTRUCCIONES

Sillón

¡Gracias por comprar muebles!


